Question Paper Name :
Subject Name :
Creation Date :
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :
Group Id :

Group Maximum Duration :

Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

National Testing Agency

Tourism and Travel Management 26th March 2021 Shift 1
Tourism and Travel Management

2021-03-26 14:16:09

180

100

100

Yes

TOURISM AND TRAVEL MANAGEMENT

1
864351195
0

120

No

No

0

100

No

TOURISM AND TRAVEL MANAGEMENT-1

864351651
1

Online
Mandatory
100



Number of Questions to be attempted : 100

Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351864
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 86435115848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tourism, activity most frequently associated with

1. Rest and Education
2. Business

3. Rest and Relaxation
4, Political Issues

Options :

86435153847. 1
86435153848. 2
86435153849. 3
86435153850. 4

Question Number : 2 Question Id : 86435115849 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sustainable tourism deals with

1. Business Tourism

2. Education tour

3. Environmental issues
4. Employment in tourism

Options :
86435153851. 1



86435153852. 2
86435153853.3
86435153854. 4

Question Number : 3 Question Id : 86435115850 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(CET stands for

1. Global Code of Ethics in Tourism

2. General Code of Ethics in Tourism

3. Global Code of Economics in Tourism
4. Global Code of Environment in Tourism

Options :

86435153855. 1
86435153856. 2
86435153857. 3
86435153858. 4

Question Number : 4 Question Id : 86435115851 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The effect of tourism on a society is

1. Negative effect

2. Positive effect

3. Both positive and negative
4. No impacts at all

Options :

86435153859. 1
86435153860. 2
86435153861. 3
86435153862. 4



Question Number : 5 Question Id : 86435115852 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Kathak is a classical dance of

1. West Bengal
2. Uttar Pradesh
3. Tamil Nadu

4. Punjab

Options :

86435153863. 1
86435153864. 2
86435153865. 3
86435153866. 4

Question Number : 6 Question Id : 86435115853 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What could be the negative impact of Demonstration effect on a society?

1. Educating the children

2. Destroying habitat

3. Destroying cultural characteristics
4. Causing pollution

Options :

86435153867. 1
86435153868. 2
86435153869. 3
86435153870. 4

Question Number : 7 Question Id : 86435115854 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A benefit of tourism doesn't include

1. Upgraded infrastructure
2. Health

3. Transports improvements
4. Education

Options :

86435153871. 1
86435153872.2
86435153873.3
86435153874. 4

Question Number : 8 Question Id : 86435115855 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

are credited for pioneering pleasure travel.

1. Romans
2. Vikings
3. Egyptians
4. Chinese

Options :

86435153875. 1
86435153876. 2
86435153877. 3
86435153878. 4

Question Number : 9 Question Id : 86435115856 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Buddhist celebrate on the full moon of Vaisak.

1. Buddha Purnima
2. Sat Bihu

3. Durgastami

4. Buddha Jeyanthi

Options :

86435153879. 1
86435153880. 2
86435153881. 3
86435153882. 4

Question Number : 10 Question Id : 86435115857 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Haldia port is located in

1. Orissa

2. Mumbai

3. Kolkata

4. Hyderabad

Options :

86435153883. 1
86435153884. 2
86435153885. 3
86435153886. 4

Question Number : 11 Question Id : 86435115858 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The earlier name of Air India was

1. Go Air

2. Jet Airways

3. British Airlines
4, Tata Airlines

Options :

86435153887. 1
86435153888. 2
86435153889. 3
86435153890. 4

Question Number : 12 Question Id : 86435115859 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Among the following which one cannot be considered as ethical issue?

1. Social injustice
2. Human rights
3. Animal welfare
4. Business

Options :

86435153891. 1
86435153892. 2
86435153893.3
86435153894. 4

Question Number : 13 Question Id : 86435115860 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What could be the drawback of jobs generated by tourism?

1. Benefits only for women

2. Not suited for elderly persons
3. Effects on host culture

4. Season oriented

Options :

86435153895. 1
86435153896. 2
86435153897. 3
86435153898. 4

Question Number : 14 Question Id : 86435115861 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IRCTC is responsible for

1. Up-gradation of catering services
2. Running special trains

3. Promotion of tourism

4. All of the above

Options :

86435153899. 1
86435153900. 2
86435153901. 3
86435153902. 4

Question Number : 15 Question Id : 86435115862 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In a tourism destination cultural clashes can take place due to differences in

1. Ethnicity

2. Races

3. Opinions

4. Competition

Options :

86435153903. 1
86435153904. 2
86435153905. 3
86435153906. 4

Question Number : 16 Question Id : 86435115863 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Licensing of Civil Aviation pilots is done by

1. AAIl

2. BCAS

3. PHHL

4. None of the above

Options :

86435153907. 1
86435153908. 2
86435153909. 3
86435153910. 4

Question Number : 17 Question Id : 86435115864 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The most popular festival of Bengal is

1. Durga Pooja

2. Ganesh Chaturthi
3. Diwali

4. Pongal

Options :

86435153911. 1
86435153912.2
86435153913.3
86435153914. 4

Question Number : 18 Question Id : 86435115865 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Railways were first introduced in

1. United States of America
2. England

3. Germany

4, France

Options :

86435153915. 1
86435153916. 2
86435153917. 3
86435153918. 4

Question Number : 19 Question Id : 86435115866 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Major part of the Thar Desert is in

1. Haryana

2. Punjab

3. Pakistan

4, None of the above

Options :

86435153919. 1
86435153920. 2
86435153921. 3
86435153922. 4

Question Number : 20 Question Id : 86435115867 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Horseshoe waterfalls is in

1. U.S.A.

2. Canada

3. Australia

4, New Zealand

Options :

86435153923. 1
86435153924. 2
86435153925. 3
86435153926. 4

Question Number : 21 Question Id : 86435115868 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



NAWAPA stands for

1. North American Water Pollution Association
2. North American Water and Power Alliance

3. North American Waterways and Port Alliance
4, None of the above

Options :

86435153927. 1
86435153928.2
86435153929. 3
86435153930. 4

Question Number : 22 Question Id : 86435115869 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rhine river is a famous inland waterways in

1. North America
2. South America
3. Europe

4. Asia

Options :

86435153931. 1
86435153932. 2
86435153933.3
86435153934. 4

Question Number : 23 Question Id : 86435115870 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Singapore Changi Airport has drawn its infrastructural designs from

1. Tokyo Haneda airport
2. King Fahd airport

3. Taoyuan airport

4. None of the above

Options :

86435153935. 1
86435153936.2
86435153937. 3
86435153938. 4

Question Number : 24 Question Id : 86435115871 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The biggest harvest festival of South India is

1. Maharavilakku

2. Makarasankranthi
3. Good Friday

4. Bhogi

Options :

86435153939. 1
86435153940. 2
86435153941. 3
86435153942. 4

Question Number : 25 Question Id : 86435115872 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



First commercial airplane flew in India between Allahabad and

1. Kolkata
2. Bombay
3. Naini
4. Delhi

Options :

86435153943. 1
86435153944.2
86435153945. 3
86435153946. 4

Question Number : 26 Question Id : 86435115873 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

contributes to the major foreign tourist arrival in India.

1. USA

2. UK

3. Bangladesh
4. Sri Lanka

Options :

86435153947. 1
86435153948. 2
86435153949. 3
86435153950. 4

Question Number : 27 Question Id : 86435115874 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In aviation, ATM stands for

1. Air Travel Maintenance

2. Automated Teller Machine
3. Air Traffic Management

4, All of the above

Options :

86435153951. 1
86435153952.2
86435153953.3
86435153954. 4

Question Number : 28 Question Id : 86435115875 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The determinants of the development of destinations are

1. Location

2. Connectivity of transport
3. Capacity

4. All of the above

Options :

86435153955. 1
86435153956. 2
86435153957. 3
86435153958. 4

Question Number : 29 Question Id : 86435115876 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Market costs refers to

1. Cost of services in the market
2. The Social costs

3. The User costs

4, External costs

Options :

86435153959. 1
86435153960. 2
86435153961. 3
86435153962. 4

Question Number : 30 Question Id : 86435115877 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Generally, an increase in cost would result in in sales volume.

1. Increase

2. Decrease

3. No change

4, None of the above

Options :

86435153963. 1
86435153964. 2
86435153965. 3
86435153966. 4

Question Number : 31 Question Id : 86435115878 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Marco — Polo Started his adventure tour from

1. Paris

2. \Venice

3. Scotland
4, Frankfurt

Options :

86435153967. 1
86435153968. 2
86435153969. 3
86435153970. 4

Question Number : 32 Question Id : 86435115879 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

First recognized Travel Agent is

1. Robert Clive

2. Thomas Cook
3. Thomas Bennet
4. Robert Smart

Options :

86435153971. 1
86435153972. 2
86435153973.3
86435153974. 4

Question Number : 33 Question Id : 86435115880 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Regular air passenger service began in

1. Germany
2. England
3. USA.
4. France

Options :

86435153975. 1
86435153976.2
86435153977. 3
86435153978. 4

Question Number : 34 Question Id : 86435115881 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The idea of introducing railway in to India was conceived by

1. Lord Mountbatten

2. Lord Dalhousie

3. Lord Warren Hastings
4. None of the above

Options :

86435153979. 1
86435153980. 2
86435153981. 3
86435153982. 4

Question Number : 35 Question Id : 86435115882 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



At present, Indian Railways hold the title of

1. Largest rail network in Asia

2. Second largest network operated under single management
3. Highest number of trains in the world

4. Both 1 and 2

Options :

86435153983. 1
86435153984.2
86435153985. 3
86435153986. 4

Question Number : 36 Question Id : 86435115883 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Cruise ships promote

1. Long haul cruises

2. Group Intensive travels
3. Travel and Tourism

4. All of the above

Options :

86435153987. 1
86435153988. 2
86435153989. 3
86435153990. 4

Question Number : 37 Question Id : 86435115884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The main motivation for Sports tourism is

1. Thrill in playing the sports
2. To get recognition

3. To get prizes

4. To get good money

Options :

86435153991. 1
86435153992.2
86435153993. 3
86435153994. 4

Question Number : 38 Question Id : 86435115885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tangible tourism resources are those which

1. Cannot be seen or touched
2. Can be seen and touched

3. Made by man

4. Given to us by our ancestors

Options :

86435153995. 1
86435153996. 2
86435153997. 3
86435153998. 4

Question Number : 39 Question Id : 86435115886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Zaskar Range of Mountains is in

1. Titles Range of Mountains

2. Alps Range of Mountains

3. Himalayan range of Mountains
4. Western Ghats

Options :

86435153999. 1
86435154000. 2
86435154001. 3
86435154002. 4

Question Number : 40 Question Id : 86435115887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Personal appearance represents

1. External appearance

2. Anterior of a person

3. Dress, makeup and hairstyle
4. All of the above

Options :

86435154003. 1
86435154004. 2
86435154005. 3
86435154006. 4

Question Number : 41 Question Id : 86435115888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Locking hand behind one’s back usually indicates

1. Submissiveness
2. Readiness

3. Disbelief

4. Arrogance

Options :

86435154007. 1
86435154008. 2
86435154009. 3
86435154010. 4

Question Number : 42 Question Id : 86435115889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pitch is referred in

1. Pace

2. Pronunciation

3. Voice modulation
4, Articulation

Options :

86435154011. 1
86435154012. 2
86435154013. 3
86435154014. 4

Question Number : 43 Question Id : 86435115890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Tourism implies

1. Movement

2. Exploration

3. Leisure travel

4, All of the above

Options :

86435154015. 1
86435154016. 2
86435154017. 3
86435154018. 4

Question Number : 44 Question Id : 86435115891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TQM mainly concentrate on

1. Quantity of service
2. Quality of service
3. Neither 1 and 2

4. Both 1 and 2

Options :

86435154019. 1
86435154020. 2
86435154021. 3
86435154022. 4

Question Number : 45 Question Id : 86435115892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Through TQM, and is possible.

1. Organizational, logistics

2. Season, earnings

3. Coordination, management
4. Quality and quantity

Options :

86435154023. 1
86435154024.2
86435154025. 3
86435154026. 4

Question Number : 46 Question Id : 86435115893 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During ancient period tourism developed in

1. US.A.
2. London
3. Tokyo
4, Rome

Options :

86435154027. 1
86435154028. 2
86435154029. 3
86435154030. 4

Question Number : 47 Question Id : 86435115894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Arthashastra was written by Kautilya during

1. Fifth Century.B.C.
2. Third Century B.C.
3. Fifth Century C.E.
4. Third Century C.E.

Options :

86435154031. 1
86435154032.2
86435154033. 3
86435154034. 4

Question Number : 48 Question Id : 86435115895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Silk Roads means

1. Good road made out of pure silk

2. Good road made out cement

3. Good road made out of tar

4. Wide road constructed during ancient period

Options :

86435154035. 1
86435154036. 2
86435154037. 3
86435154038. 4

Question Number : 49 Question Id : 86435115896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Systematic Tourism is developed during

1. Prehistoric period
2. Ancient times

3. Medieval period
4. Modern period

Options :

86435154039. 1
86435154040. 2
86435154041. 3
86435154042. 4

Question Number : 50 Question Id : 86435115897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Travel during ancient period was for

1. Spending leisure time
2. Enjoying vacation

3. Learning and adventure
4. Sight seeing

Options :

86435154043. 1
86435154044. 2
86435154045. 3
86435154046. 4

Question Number : 51 Question Id : 86435115898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TOREMNUS means a circle in

1. German Language
2. French Language
3. Greek Language
4. Latin Language

Options :

86435154047. 1
86435154048. 2
86435154049. 3
86435154050. 4

Question Number : 52 Question Id : 86435115899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Traveler in transit means:

1. A traveler on transfer basis

2. Traveler transporting his luggage

3. Stay in a country for a very short period, on his way to other country
4. Taking transfer to other country for work

Options :

86435154051. 1
86435154052. 2
86435154053. 3
86435154054. 4

Question Number : 53 Question Id : 86435115900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The Indian culture is known for its

1. Varity

2. Simplicity
3. Diversity
4. Oneness

Options :

86435154055. 1
86435154056. 2
86435154057. 3
86435154058. 4

Question Number : 54 Question Id : 86435115901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Kathakeerthan” is the folk dance of

1. Haryana

2. Gujarat

3. Maharastra
4. Orissa

Options :

86435154059. 1
86435154060. 2
86435154061. 3
86435154062. 4

Question Number : 55 Question Id : 86435115902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The dance forms of India may broadly be classified into types.

1. Four
2. Two
3. Six
4. Eight

Options :

86435154063. 1
86435154064. 2
86435154065. 3
86435154066. 4

Question Number : 56 Question Id : 86435115903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Wild Life Tourism is Famous in

1. USA

2. UK

3. Africa

4, Germany

Options :

86435154067. 1
86435154068. 2
86435154069. 3
86435154070. 4

Question Number : 57 Question Id : 86435115904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Whales' watching is an important source of revenue in

1. Australia

2. United Kingdom
3. France

4. Spain

Options :

86435154071. 1
86435154072. 2
86435154073. 3
86435154074. 4

Question Number : 58 Question Id : 86435115905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first wildlife reserve of India is

1. Kaziranga National Park

2. Corbett National Park

3. Rajeev Gandhi National Park
4. Sunderbans National Park

Options :

86435154075. 1
86435154076. 2
86435154077. 3
86435154078. 4

Question Number : 59 Question Id : 86435115906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Communication helps to

1. Clarify facts

2. Advice

3. Obtain consensus
4, All of the above

Options :

86435154079. 1
86435154080. 2
86435154081. 3
86435154082. 4

Question Number : 60 Question Id : 86435115907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

initiates the communication process.

1. The receiver

2. The sender

3. The mediator

4. None of the above

Options :

86435154083. 1
86435154084. 2
86435154085. 3
86435154086. 4

Question Number : 61 Question Id : 86435115908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A barrier is one which the smooth flow of communication.

1. Interprets
2. Interrupts
3. Intermediates
4. |dentifies

Options :

86435154087. 1
86435154088. 2
86435154089. 3
86435154090. 4

Question Number : 62 Question Id : 86435115909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

is the longest operating international airport in the world.

1. Sydney

2. Johannesburg
3. Frankfurt

4. King Fahd

Options :

86435154091. 1
86435154092. 2
86435154093. 3
86435154094. 4

Question Number : 63 Question Id : 86435115910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In Japan, Shinkansen is the other name of

1. Bullet Trains
2. TGV

3. MLXO1

4. CRH380A

Options :

86435154095. 1
86435154096. 2
86435154097. 3
86435154098. 4

Question Number : 64 Question Id : 86435115911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The other name for Sultan Abdul Aziz Shah Airport is

1. Singapore International Airport

2. Changi International Airport

3. Dubai International Airport

4. Kaula Lumpur International Airport

Options :

86435154099. 1
86435154100. 2
86435154101. 3
86435154102. 4

Question Number : 65 Question Id : 86435115912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Eurail is a

1. Train service

2. Train pass service
3. Neither 1 and 2
4. Both 1 and 2

Options :

86435154103. 1
86435154104. 2
86435154105. 3
86435154106. 4

Question Number : 66 Question Id : 86435115913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
and international airports are located in Germany.

1. Incheon and Changi

2. Zurich and Heathrow
3. Munich and Frankfurt
4. Denver and Vancouver

Options :

86435154107. 1
86435154108. 2
86435154109. 3
86435154110. 4

Question Number : 67 Question Id : 86435115914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The first high speed rail put to operation in

1. China
2. India
3. England
4. Japan

Options :

86435154111. 1
86435154112.2
86435154113. 3
86435154114. 4

Question Number : 68 Question Id : 86435115915 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The East China sea route has a history of years.

1. 7000
2. 3500
3. 3000
4, 1000

Options :

864351541151
86435154116. 2
86435154117. 3
86435154118. 4

Question Number : 69 Question Id : 86435115916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Hand pulled rickshaws entered India through

1. China
2. Japan
3. Thailand
4, Sri Lanka

Options :

86435154119. 1
86435154120.2
86435154121. 3
86435154122. 4

Question Number : 70 Question Id : 86435115917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Motor cycles and scooters are rented in the tourist destinations of

1. Delhi
2. Kolkata
3. Kochi
4, Goa

Options :

86435154123. 1
86435154124.2
86435154125.3
86435154126. 4

Question Number : 71 Question Id : 86435115918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Helicopters are generally used to transport

1. Ministers

2. Rescue workers
3. Security forces

4, All of the above

Options :

86435154127. 1
86435154128.2
86435154129. 3
86435154130. 4

Question Number : 72 Question Id : 86435115919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There are about kilometers of waterways in USA.

1. 18000
2. 36000
3. 24000
4, 72000

Options :

86435154131. 1
86435154132. 2
86435154133.3
86435154134. 4

Question Number : 73 Question Id : 86435115920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



India has navigable waterways of about kilometers.

1. 14,500

2. 7,000

3. 8,000

4, None of the above

Options :

86435154135. 1
86435154136.2
86435154137. 3
86435154138. 4

Question Number : 74 Question Id : 86435115921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sustainable tourism Development means:

1. Developing tourism to sustain the business

2. To attract more number of to the destination

3. To develop the tourism according to carrying capacity of the destination
4. To bring more tourist to the destination

Options :

86435154139. 1
86435154140. 2
86435154141. 3
86435154142. 4

Question Number : 75 Question Id : 86435115922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



World Tourism day is celebrated on

1. 27th September
2. 27th October

3. 27th July

4. 27th August

Options :

86435154143. 1
86435154144.2
86435154145. 3
86435154146. 4

Question Number : 76 Question Id : 86435115923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTTC was established in the year

1. 1980
2. 1995
3. 1990
4, 2000

Options :

86435154147. 1
86435154148. 2
86435154149. 3
86435154150. 4

Question Number : 77 Question Id : 86435115924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



IATA was established by an Act of Parliament of the Government of

1. USA

2. UK

3. Canada
4, Australia

Options :

86435154151. 1
86435154152.2
86435154153.3
86435154154. 4

Question Number : 78 Question Id : 86435115925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mass tourism brings in

1. More money

2. More employment

3. Improves destinations

4. More pressure on destination

Options :

86435154155. 1
86435154156. 2
86435154157. 3
86435154158. 4

Question Number : 79 Question Id : 86435115926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Sustainable tourism planning should primarily involve

1. Central Government
2. State Government
3. Local Community

4, All of the above

Options :

86435154159. 1
86435154160. 2
86435154161. 3
86435154162. 4

Question Number : 80 Question Id : 86435115927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tourism development should bring

1. More economic benefits
2. More cultural benefits
3. Social benefits

4. All of the above

Options :

86435154163. 1
86435154164. 2
86435154165. 3
86435154166. 4

Question Number : 81 Question Id : 86435115928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Community based destination development means

1. Destination development project should be given to local people

2. Employment generated from such project should be given to local people
3. Involve the local community in the destination development process

4. None of the above

Options :

86435154167. 1
86435154168. 2
86435154169. 3
86435154170. 4

Question Number : 82 Question Id : 86435115929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tourism has direct impact on employment in

1. Hospitality sector

2. Travel agency and tour operators
3. Transport sector

4. All of the above

Options :

86435154171. 1
86435154172. 2
86435154173.3
86435154174. 4

Question Number : 83 Question Id : 86435115930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The economic impact of tourism has direct relation to

1. The length of the stay of tourist in the destination
2. Number of tourists passing through destination

3. Number of tourists vehicles coming to destination
4. Number of people visiting destination

Options :

86435154175. 1
86435154176.2
86435154177. 3
86435154178. 4

Question Number : 84 Question Id : 86435115931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sociclogical changes of tourism is indicated as

1. Change in society

2. Change in the social habits of the people
3. Change in the food habits of the people
4. None of the above

Options :

86435154179. 1
86435154180. 2
86435154181. 3
86435154182. 4

Question Number : 85 Question Id : 86435115932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Foreign Exchange earning in tourism is possible when

1. More people go to foreign country

2. More foreign tourists come to the country

3. We export more goods to be used by tourists
4. Foreign businessman visits the country

Options :

86435154183. 1
86435154184.2
86435154185. 3
86435154186. 4

Question Number : 86 Question Id : 86435115933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which category of people cannot be easily influenced by demonstration effect?

1. Older generation
2. Youth

3. Children

4, Women

Options :

86435154187. 1
86435154188. 2
86435154189. 3
86435154190. 4

Question Number : 87 Question Id : 86435115934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The emphasis of ecotourism is on

1. Its environmental sustainability
2. Its socio-cultural sustainability
3. Its economic sustainability

4. Its Physical sustainability

Options :

86435154191. 1
86435154192.2
86435154193. 3
86435154194. 4

Question Number : 88 Question Id : 86435115935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Yana is

1. A place where natural rock formation is found.
2. Two mountains are found.

3. Two rivers join.

4. Valley created in between two rocks.

Options :

86435154195. 1
86435154196. 2
86435154197. 3
86435154198. 4

Question Number : 89 Question Id : 86435115936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



is the major contributing inland waterway in China.

1. Yang-tse

2. Kwong ho

3. Mae Klong

4. None of the above

Options :

86435154199. 1
86435154200. 2
86435154201. 3
86435154202. 4

Question Number : 90 Question Id : 86435115937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You can watch large number of Elephants in

1. Alaska
2. Africa

3. India

4, Thailand

Options :

86435154203. 1
86435154204. 2
86435154205. 3
86435154206. 4

Question Number : 91 Question Id : 86435115938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A successful itinerary is one which is

1. Planned logically

2. Planned using an outline

3. Planned as per the preferences of the clients
4. All of the above

Options :

86435154207. 1
86435154208. 2
86435154209. 3
86435154210. 4

Question Number : 92 Question Id : 86435115939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The main difference between an Excursionist and a tourist is

1. Length of Stay

2. Travelling time

3. The distance from the residence to visiting place
4. The objectives of travel

Options :

86435154211. 1
86435154212.2
86435154213.3
86435154214. 4

Question Number : 93 Question Id : 86435115940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Wine tourism originally developed in

1. France
2. Germany
3. India

4, USA

Options :

86435154215. 1
86435154216.2
86435154217. 3
86435154218. 4

Question Number : 94 Question Id : 86435115941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A terminal is a/ an

1. Vehicle

2. Infrastructure

3. Medium

4. None of the above

Options :

86435154219. 1
86435154220. 2
86435154221.3
86435154222. 4

Question Number : 95 Question Id : 86435115942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Multimodal transport refers to

1. Traveling in many of the similar vehicles.

2. Traveling to the same place again and again.

3. Traveling through different means of transport.
4. All of the above

Options :

86435154223. 1
86435154224.2
86435154225. 3
86435154226. 4

Question Number : 96 Question Id : 86435115943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To keep commentary fresh the guide should

1. Keep himself/ herself updated

2. See the monuments from visitors point of view
3. Draw group’'s energy

4. All of the above

Options :

86435154227. 1
86435154228. 2
86435154229. 3
86435154230. 4

Question Number : 97 Question Id : 86435115944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Today, trams are used in Kolkata to

1. Transport huge number of passengers
2. Transport cargo

3. Promote tourism

4. None of the above

Options :

86435154231. 1
86435154232.2
86435154233.3
86435154234. 4

Question Number : 98 Question Id : 86435115945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Culture means

1. The dress and the food pf the people in a community

2. The music and dance performed by the people

3. The living style of the community in a region or country
4. All of the above

Options :

86435154235. 1
86435154236. 2
86435154237. 3
86435154238. 4

Question Number : 99 Question Id : 86435115946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Adventure Tourism Activities can be carried out in

1. Hills and Mountains
2. In Land, Water and Air
3. In Land only

4. In Seas only

Options :

86435154239. 1
86435154240. 2
86435154241. 3
86435154242. 4

Question Number : 100 Question Id : 86435115947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Adventure travel can be undertaken only by

1. Rich People

2. Young People

3. Average people

4. Anyone who enjoys thrilling experiences

Options :

86435154243. 1
86435154244.2
86435154245. 3
86435154246. 4



